eco
PASS

PORT. :hager

Product Environmental Profile

Mounting kit, universZ, H=1050mm, for load management applications, APZ
300mm, RfZ 150mm, VDI 600mm, 1-f.

Company information References covered

Hager ZU37LMS5ES2, ZY1255LM, ZY4005LM, ZY2505LM, ZUS9LM7APZ2, ZU59LM7ES2, U84LM

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: infopep@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product Functional unit

Reference product identification Assembly units allowing to mount load management applications and ensure the grouping of control,
ZU37LM5APZ2 command and protection devices having the following dimension 1050x250x50mm for the reference service
life of the product of 20 years.

Use scenario based on :
PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the reference
3.15. 'Other equipment' 'Passive product - continuous operation” product.

PEP ecopassport 1/5 HAGE-01332-V01.01-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastlcs

Total mass of reference product with raw material

packaging :

Total mass of reference product

(Product + packaging)

System Boundaries

512539 g

4863.57 g

1426.12 27.8% Steel 1628.70 31.8% Cardboard 653.07 12.7%

HI PS 818.00 16.0% Brass 24.69 0.5% Wood 121.59 2.4%
PA6 115.73 2.3% Zinc 18.62 0.4% Tetrabromobisphenol A 89.00 1.7%
PE-LD 45.28 0.9% Stainless steel 12.33 0.2% Glass 35.84 0.7%
PA66 31.07 0.6% Other 23.38 0.5% Paper 20.14 0.4%
Other 20.74 0.4% Other 41.08 0.8%

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing

Raw material extraction
and processing
Transport to the manufacturer
Manufacturing

Manufacturing

Distribution

Distribution to
the place of operation

Installation

Installation on
the place of operation

o
el
o2
S <
EE
>
< T
59
© 5
G 2
=

Maintenance

Use End of life Module D
j=2}
£
IS 8
j=2]
=) ) 2
= £ e | 88 s
=] = D >
S 2] =
B S 2 RS §§
- c
g g £S5 | 29 8 22 | g8 _ 33
— = [ b=} 0 [
= = - [} b= °
3 £ ] EB 2w S 5% g > b 2 £
o Q <] 0 o T O < Qo I 8 c 2
5] ] L =0 =0 7} 2= 5 = a o 2
= = 3 22| 323 2 Se | S8 2 23
5] & g Sa o] =5 €3 T o
x = £ L c [a} L4 o 2 c c
3 5 = | Eg s
2 L o T 0 B2
2 S £ o 3 S
o = = 2 ?
2] Q
k]

Life cycle stages

Distribution

These products are manufactured by a site that has received an environmental certification

1ISO 14001.

This phase takes into account raw materials, manufacturing processes, production offcuts
and their end-of-life treatment, upstream transport of materials and sub-assemblies to the
manufacturing site, and transport from the manufacturing site to the final logistics platform.

Installation

Installation processes

The packaging has been designed in accordance with current regulations. In particular,
the European directive 94/62/CE relative to packaging and packaging waste.

The used packaging is 100% recyclable or recoverable.
Packaging and logistic flows are continuously improved in order to reduce their impact.

This phase taken into account the transport of the finished product,
packaging, to its place of use.

including

The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the the packaging waste treatment is taken into account.

Installation elements (non delivered with the product)

Elements non delivered with the product and needed to install the product are not considered.

Use

Power loss / load dependent

Active mode
Watt % of time
0.92475 100%

Inactive mode
% of time

Watt
0

0%

Power consumption / not load dependent

Active Sleep phase

Watt
0

% of time

0%

Passive Sleep phase
Watt

0 0%

% of time

Turn off phase

Watt
0

% of time

100%

This corresponds to a total energy consumption of 162.02 kWh for the use span of 20 years.

The Use phase is calculated based on PowerlLoss (Pw) at 30% of the nominal current (In), 100% of time (passive product, continuous operation)

Energy model of the use phase :

Germany

Consumables and maintenance :

None

PEP ecopassport

2/5

HAGE-01332-V01.01-EN



End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 52%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.2.4-12 with the database version CODDE® 2024-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

A1-A3 A4 A5 C1-C4
Europe Europe Germany Europe

Environmental impact indicators

. . Manufacturing Distribution Installation Use End Of Life

Indicators Unit AL-A3 Ad | A5 | B1-B7 | c1-ca | GLOBAL | Module D
Acidification (PEF-AP) mole H+ eq. 8.62E-02 5.56E-03 1.80E-03 5.40E-01 2.40E-02 6.57E-01 -1.85E-02
Climate change - Total (PEF-GWP) kg CO2 eq. 1.99E+01 8.76E-01 8.14E-01 7.48E+01 5.19E+00 1.02E+02 -1.87E+00
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -8.12E-01 0.00E+00 1.47E-01 1.72E+00 1.52E-01 1.21E+00 -9.92E-02
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 2.07E+01 8.76E-01 6.66E-01 7.31E+01 5.04E+00 1.00E+02 -1.77E+00
gl!ﬁ‘évf/';alﬂ)ge*and TS (I B CER kg CO2 eq. 1.98E-03 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.98E-03 0.00E+00
Ecotoxicity, freshwater (PEF-CTUe) CTUe 3.84E+03 5.75E-01 9.18E+00 1.65E+02 3.42E+01 4.05E+03 -9.19E+00
EF-particulate Matter (PEF-PM) '”g:g:;'g:s”f 5.17E-07 4.52E-08 1.08E-08 3.20E-06 2.48E-07 4.02E-06 -1.79E-07
Eutrophication, freshwater (PEF-Epf) kg P eq. 3.05E-04 3.29E-07 8.87E-06 4.49E-05 7.56E-05 4.35E-04 -2.14E-03
Eutrophication, marine (PEF-Epm) kg N eq. 1.27E-02 2.60E-03 8.48E-04 5.73E-02 5.28E-03 7.87E-02 -1.39E-03
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 1.40E-01 2.86E-02 5.31E-03 8.85E-01 5.13E-02 1.11E+00 -1.77E-02
Human toxicity, cancer (PEF-CTUh-c) CTUh 8.67E-07 1.54E-11 7.00E-08 1.03E-08 4.41E-08 9.92E-07 -2.85E-08
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 4.66E-07 2.98E-10 2.06E-09 3.38E-07 7.89E-08 8.85E-07 -2.24E-07
lonising radiation, human health (PEF-IR) kg Bq U235 eq. 3.01E+01 2.14E-03 9.96E-02 2.53E+01 2.82E-01 5.58E+01 -1.16E-01
Land use (PEF-LU) No dimension 6.69E+00 0.00E+00 1.69E-03 1.53E+00 9.22E+00 1.74E+01 -3.06E+01
Ozone depletion (PEF-ODP) kg CFC-11 eq. 2.32E-06 1.35E-09 8.21E-09 4.26E-07 5.44E-07 3.30E-06 1.13E-07
(F’F:‘S‘F‘?;hg(':“;;a' ozone formation - human health |\ ¢ NMyOC eq. 4.66E-02 7.21E-03 1.24E-03 1.84E-01 1.48E-02 2.54E-01 1.11E-02
Resource use, fossils (PEF-ADPf) MJ 7.32E+02 1.22E+01 6.13E+00 1.30E+03 6.93E+01 2.12E+03 -2.54E+01
M SR IS kg Sb eq 1.11E-04 3.45E-08 1.52E-08 2.51E-05 2.53E-05 1.61E-04 7.20E-05
(PEF-ADPe)
Water use (PEF-WU) m3 eq. 1.12E+01 3.33E-03 5.00E-02 6.93E+00 9.31E+02 9.49E+02 -6.13E+02
Resource use indicators

. Manufacturing Distribution Installation Use End Of Life

Indicators N A4 | A5 | B1BT | ciea | GLOBAL | Module D
Net use of fresh water 2.62E-01 7.76E-05 1.16E-03 1.62E-01 2.68E+01 2.73E+01 -1.31E+01
Total primary energy 7.61E+02 1.23E+01 6.95E+00 1.70E+03 7.41E+01 2.56E+03 -3.05E+01
Total non renewable primary energy 7.32E+02 1.22E+01 6.13E+00 1.30E+03 6.93E+01 2.12E+03 -2.54E+01
Total renewable primary energy 2.90E+01 1.63E-02 8.20E-01 4.08E+02 4.84E+00 4.43E+02 -5.06E+00
Non renewable primary energy used as energy 6.40E+02 1.22E+01 6.13E+00 1.30E+03 6.93E+01 2.02E+03 -2.54E+01
g?:e:f;ewab'e primary energy used as raw 9.19E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 9.19E+01 0.00E+00
Use of non renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 1.44E+01 1.63E-02 8.20E-01 4.08E+02 4.84E+00 4.28E+02 -5.06E+00
Renewable primary energy used as raw material 1.45E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.45E+01 0.00E+00
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

PEP ecopassport 3/5 HAGE-01332-V01.01-EN



Waste category indicators

Indicators

Hazardous waste disposed

Non hazardous waste disposed

Radioactive waste disposed

Output flow indicators

Indicators

Components for re-use

Exported energy

Materials for energy recovery

Materials for recycling

Biogenic carbon content

Packaging

Biogenic carbon content (ratio)

Biogenic carbon content (declared unit)

Biogenic carbon content (functional unit)

Source

Extrapolation rules

Manufacturi
Al1-A3

7.21E+00

Distribution

ng
A4

0.00E+00

Installation
A5

1.55E-02

2.93E+00

End Of Life
Ci-c4

4.69E-02

GLOBAL

1.02E+01

-4.78E-04

6.20E+00

3.08E-02

2.76E-01

1.26E+01

3.59E-02

1.91E+01

-2.21E-01

3.21E-03

2.19E-05

3.23E-05

1.35E-03

1.51E-06

4.62E-03

-1.82E-04

Manufacturi
Al1-A3

ng Distribution
A4

Installation
A5

End Of Life
Ci-c4

GLOBAL

0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 6.00E-02 0.00E+00 2.01E-04 6.02E-02 0.00E+00
2.56E-01 0.00E+00 8.60E-03 0.00E+00 0.00E+00 2.65E-01 0.00E+00

Cardboard

2.80E+01 3.78E+01 3.95E+01

6.53E-01 2.55E-02 1.22E-01 8.00E-01
1.83E-01 9.63E-03 4.81E-02 2.41E-01
1.83E-01 9.63E-03 4.81E-02 2.41E-01
ADEME APESA/RECORD EN 16485

ardboard Pape ood

0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

Registration N°:

HAGE-01332-V01.01-EN

Drafting Rules

PEP-PCR-ed4-2021 09 06

Supplemented by

PSR-0005-ed3.1-2023 12 08

Verifier accreditation N°:  VH35

Information and reference documents: www.pep-ecopassport.org

Date of issue: 2-2025

Validity period:

5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal @ External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Il environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics

application may therefore change.
The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.
The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport

4/5

..., real values for a product in a concrete

HAGE-01332-V01.01-EN




Appendix

isposed - [kg]

minerals and metals

ncer (PEF-CTUh-nc) - [CTUh]
(PEF-ADPe) - [kg Sb eq]

n, freshwater (PEF-Epf) - [kg P eq.]
marine (PEF-Epm) - [kg N eq.]
terrestrial (PEF-Ept) - [mole of N eq.]

Land use (PEF-LU)
letion (PEF-ODP) - [kg CFC-11 eq.]

Exported energy - [MJ]
, human health (PEF-IR) - [kg Bq U235 eq.]

Components for re-use - [kg]
Materials for energy recovery - [kg]
Materials for recycling - [kg]
Net use of fresh water - [m3]
Total primary energy - [MJ]
Use of secondary material - [kg]

Water use (PEF-WU) - [m3 eq.]

Hazardous waste d
Radioactive waste disposed - [kg]

Non hazardous waste disposed - [kg]
Resource use

Total renewable primary energy - [MJ]

=
b5
+
s
2
S
E
o
<
h
i
=
p=
=}
©
S
<l
1
<

ate change - Total (PEF-GWP) - [kg CO2 eq]

Climate change-Fossil (PEF-GWPT) - [kg CO2 eq.]
Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Human toxicity, cancer (PEF-CTUh-c) - [CTUh]
Renewable primary energy used as energy - [MJ]
Resource use, fossils (PEF-ADPf) - [MJ]
Total non renewable primary energy - [MJ]
Use of non renewable secondary fuels - [MJ]
Use of renewable secondary fuels - [MJ]

ing rad

Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Non renewable primary energy used as energy - [MJ]

Renewable primary energy used as raw material

Human toxicity, non
diation,
EF-particulate Matter (PEF-PM) - [Incidence of diseases]

Non renewable primary energy used as raw material - [MJ]

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]
lonisi

hotochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC eq.]|

P

oD M 1

c < sece02| 1ooeor| wrzeor| zovecor| soseos| oovevoo| sseia| soseor] szrece| sa0er] oooero| raseo| asreor| asseor] o] ssserco| oooero| 2seeor]| 2seer] saeroo| saveror| sa0eror]| 2meos| sareor| asseor| azecs| sweens]| saseens| raeen| 1ueos] 7ae| 7eiene| 20060 ocoern| oooeron| ooeron) 1ien]

=]

R AR ooc 2| sonen| zmen| smeo| omeoo] s sues| suew| sseal smew| raec] swear] sweor] ameon| ruen| smen| ol anen smew| ee| o] ssea| ssea| suee] swen| wen| swen| o] el e wen| sweo| smen| o] o) s

(]

5 PAVSTIVP{SP I sosco| 2cecr] o] 2sveas| sorecs] omoerco] ronean| soseor] seser] ssiear] ooero| ore| soeor| 2ioeos| 2omece| saseo] owoeo| ssieas| 2oser| soseo| raece| sssern| ssseas| soros] esseer] soress| soreen| suses| sorece| swees] soree| sasee] ssesm| oooeao| oooeeo) oweso| sereecs

c

g PAVEY AV P corcn| 2vecn| rsvean| zoren| szocas| omeon| soomor| sssear| swecr| seear| omen| omes| aweor| 2sseos| zosee| sosen| owen| suea| ameo| swen| sowee| o] soeos| sseos| someoe| zeceas| sssean| sme| emee| sceos| smee| roer| 2sen| ome| ome| ome| 1iea
ZY1255LM ssiece] ssseroo| sosear] ssseeo] 2sseos| oovecn| sosercs| aroean| raiecs| roseor| osean| o] asseor| sosear| 2| seoees| oovecn| ssser| oseeno| soein] 220ere| soreiao| seswos| asseor| szsece| rsseos| eserco| sosen| 2| ssiean| 2averce| 2svere] asterao| ooeon) owerco| vooeean| seeod
ZY4005LM sece] eosewoo| ariear| easeoo] 2sseos| oovecn| soseic| oreon| assecs| ssseor| osean| saee] asoror| asmear| 2aseen| swoeos| ooven| ssseor| srienr| osear] o] soneo| soeos| ssreor| 2uece| seswor] reteo| cssen| smere| sosear| srece] 7| azzean| ooen) owesco| vooeesn| 2oeeod
ZY2505LM saoece] esiewo| asmear] asoeo] 2sses| oovecn| sosei| orean| smas| sreeor| osean| saseen] aoreor| asrear| 2| sweos| ooven| ssseor| raeewr| osar] smene| reo| sios| sseor| 2vese| soeor] reneo| 2ssen| sweie| sazear| saece| sorene] aameso| ooeen) owesco| vooeesn| s

UB4LM ssece] ooeeor| ssear| soseor] 2useos| oovecn| raoei| rieor| sorece| siseor| osean| sree] suseor| sonear| suseen| o] coven| soocor| riseas| sarewn] rsvere| ssier| 2weor] smeor| ssene| 2eiees ssce| sen| o] razear| sowce| azere| ssieas| ooen) owesco| vooeesn| sooeeoo

c <

S 50 BV ATNI PR sccecs| orecor| omeo| sreear] owenco] omeao| sreor] smeor| ceneas| 2sseor| omero| oovevn| ssiens| 2smesof 2uecs] owoeso| oovean| wooee] rrsees| sonece| s22eio| owerso| sseos] asseos| raseas| 2soros) sosee| voveern| so2eeo| suse| saer] 12| rosece| ooeon] owesco| vooean| ssees

=l

a PAUSTIVV N PR cscos| soseo] ovoerco] soseeon| oooeeo] omerco| srmeas| sreor| soses| sssece] omoerco| osuean| smess] ssorso] 2ssess| aooero] oweo| coven| ssieos| serece| suecr] owoero| rssean| sueos| sareos| 2sseos| soreoc| owerso| sues] soseoo| sues| suer]| sore] ocoeian| oo owerco| soreas

o=}

3] PAVSETIVP{SP I csocoo| 1oceeco| oooero] oreco| oooeeco] owoerco] srzear| saseor] soueos| ssece| oooero| omero| sovess] suseso] 2saeas| ooveo] osoesco| oovean| soreos| seoee| suecs| oooerco| orean| soseos) wieos| 2seeos| soieoe| oweo| sess| soieos| rwses| suer] sorea] ocoean| oooeeo) owesco| seseas
PAVEY(IVEISP I csicoo| scsecr] oooeroo] sssean| oooeco] owoerco| sroear| saeor] asoeos| 2ssece| oooero| omero| sssess] 2oseso] 2szeas| ooeo] osoesco| oovean| reveos)| sosec| sarecr] oooeroo| rssean| wseon) rseees| 2vress| sereor| owero| sen| swee| sze| saer] serer] oooean| oooeeo) owerco| ssveas
ZY1255LM soecs] 2w0eor| oomean| 2e0r] omeo| oovecn| suor| szveco| sszear] riseos| osean| o] ssoesc] raress| ssseos| omeo| covecn| oooeroo| roneas| rriecs| soeeroo| osoeao| sseso siseos| ssmeas| suoeos| aame| covean| soseroo| seseas| sosern| soresoo| asneas| ooeon) owesco| voveean| ssieod
ZY4005LM oseor| ssseor| omean| sseeor] omeo| oovecn| soaeor| sseco| acsear] soseos| osean| o] 2mese] ssiess| ssoeos] el coven| oooeroo| rsseas| sasecs| ziserco| osoeao| 2weso| soueoo| rameas| sooros| zose| covean| 2| ssseas| zasein| 2iserco| 2sieas| ooeoo) owesco| voveean| seod
ZY2505LM soiecs] sescor| oomean| seseor] omero| oovecn| soveor| szseco| aosear] suseos| osean| o] zeseic] seress| soseos] omeco| coven| oooeroo| rireas| sosecs| zsverco| osueao| 2saeso asoroo| ssreas| asreos| ssoes| voven| 2ssero| ssseas| 2sern| 2soesoo| ssveas| ooeoo) owesco| vooeean| eseod

UB4LM coseas] aseeor| omean| oseor] omeo| ooven| asreor| oseor| soecs| zoreor| osean| vooeio] sizens| 2usesof ssseos] oweo| coven| oooeio| seseas| scsece| asserco| osoeao| ormeso| saseos| saseas| ssowos| riseco| cooen| asseroo| 2siean| sasein] ssoerco| risece| cooeio) owesco| vovein| 2aees

A BT o] oico| sorcor] csocor| omorco] ooeun| ssse| amrce] seor] sovcas| oo 1sece| rencan| sosein] omece| sencan| swess] aean| ssscan| srscas| esseao] ooern| ssmcon| sosen] sucen| ssscos| asoce| ooen| sssen| ssici] orson| sen| s oweon| overn| o] socean

™ [ussuravz [ o

% [ osorrce, |0 0 O [ [ [ [ [ O O O
PVEYMVSTY I o] rorcor| suucor] osieo] ooecn| o] ssacco] seos| ameon| siso) omen| sssccr| o] soen| orsece| sesein] sweae| wsmecs| ssicss] amem| ooern| ouerm| soien] soseon| ssucas| sss] soseor] aonen| stoe] soeon| sonen| sset] soeer| sonen| o] owe| smear
a0 I 0 0 50 [ [ [ [ [ [ [ [ O e
oo, O [ 0 [ [ [ [ [ [0 [ [ O e st
o, [ O [ 0 5 [ [ [ [ [ [ [ [ O e
e, [ I [ [ [ [ [ 5 [ I [ [ O [ O O O

g',?n PAVETRVTCT LI o cco| 7| iraen| rsiecor] ooteo| woveco| sosee] asocce] srseer] sosean| wooeean| cstn| roseon] ssmeer] assen| ssean| ovoen| omero| sszear]| sase| sscess| osoen| azseor] sameos| sen| sseas| assece] oumero] saveas| zsieas| ssoeis| sroes| acnere] woveo| cet| ococean| ssseen
:

o7, [ [ I [ I I S
oo rrc= | O [ [ [ [ I O I [ [ O O I
PAVEYMVSTY I < ccor| oeen| sreca] rsicar] ooecn| o] sisear] amecs| sraces| wmen] omen| smen| 1o sseor| | ssse] omee| ooern| serean] ssscn] soere| ouerm| aseer| ameos| sucon| i) comn| aonen| ssoe] ssscos| sets| st acmn] onevn| o] oseo| e
oo O [ [ [ [ [ O I [ [ O [ O I
oo, [ [ [ [ [ I I [ [ [ I
oo, [ [ [ [ [ I O I [ [ [ O
v, IO N I IS IS IS IS O S IS I U S O S O O O O O S U I I

% Y BERELRIAT I : x| suoen| ssscar] soeo| o] oo sioman| vsocen| somees| sisear| oomo] s wussan| vovean| ssear| sssean| sorcor] ososao] seses| ssocar| wsmeen| somen| sucer] sueer| vier] ssscon| sameen| soeon| sosn] 2] ssse| rasen| essen| aosern| oono| scnie] ssice

2 5 [oomouurace. [0 O O O O [ 0 0 [ 0 0 S [ 0 [ [ 0 [ O 0 o o

2 [ Jommuree | [ O [ [ [ i

v
verroc= 0 O [ [ [ [ [ [0 [ I
oo [ [ [ [ [ [ [ [ O
oo, O [ [ [ [ [ [ I [ [ S [ O e
oo, [ [ [ [ [ [ [ [ S [ O i
e, I [ [ 0 [ [ [ [ I O

G- [ O O P

e, | N O [ O A [ O 5 O

8

S eorc. N I [ [ I [ I I [ I O O
[ erroce N O [ [ [ [ [ [ [ O O
oo [ O [ [ O I I [ S O O O N
oo, [ O [ [ [ [ I I [ S I [ S O e
o, I [ I [ I I [ I [ e
o N O O O 0 00 O O O O O D P O O O O

PEP ecopassport 5/5 HAGE-01332-V01.01-EN



